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COMMERCIAL TAX INSPECTOR (RPC) IN THE DEPARTMENT OF COMMERCIAL TAX

Total Marks : 100

Examination held on 21.01.2024 (AN)

Paper-2 (Subject Code: 571)
KEY CHART
Question Booklet Series - 'P'

1 Mark for each question

Question Key Question Key Question Key Question Key
Number | Answer | Number | Answer | Number Answer Number Answer
1 2 26 1 51 2 76 2
2 4 27 3 52 4 77 2
3 3 28 2 53 3 78 2
4 1 29 2 54 1 79 1
) 3 30 2 55 3 80 1
6 4 31 4 56 4 81 2
7 1 32 3 57 4 82 2
8 3 33 4 58 2 83 4
9 4 34 4 59 2 84 2
10 3 35 3 60 3 85 2
11 4 36 3 61 3 86 2
12 2 37 3 62 1 87 2
13 3 38 2 63 1 88 4
14 4 39 2 64 1 89 1
15 4 40 2 65 2 90 3
16 1 41 1 66 2 91 2
17 4 42 2 67 3 92 1
18 4 43 2 68 2 93 2
19 2 44 1 69 4 94 1
20 3 45 4 70 1 95 2
21 2 46 2 71 2 96 1
22 3 47 2 72 1 97 1
23 1 48 3 73 3 98 1
24 2 49 4 74 3 99 3
25 3 50 1 75 2 100 1

Note: Every question for which wrong answer has been given by the candidate, % th of the marks
assigned for that question will be deducted.

sd/-

Controller of Examination

Karnataka Public Service Commission

Bengaluru.




COMPUTER KNOWLEDGE

1. — SoBeoobd RAM &bz 4, MS-Wordse) serveds  e503ewimed)
CPU S&0s3 |0-eens. o33 apoge® Beodis) WSROI
(1 Sl
1) F7
(2) Bogs Ko © F5
(3) ooex® y  (3) F10
(4) B[PIYOFLY abosyEe ©Y (4) F3

5. MS S@e-2010 08 RBrRodRuEmeD

2. oBdres® TOPOD 2,000
Swd  FoabedErdoRE eSSl r6sg appots® rog IREIT?
SBabeRrHIT. - —
(1) 5368 aob (2) 62
©2) es® "o (3) 1638

(4) 1368

@) & Isvabd

(4) OmT0 oanod
6. MS =wfrme) Letter Size o33

3. @oﬁﬂaj@ﬁ%fe?) adEyT MS-Word ﬁe‘?ﬁi
m&g‘bo@ﬁ €037

AR czaﬁjéaﬁooéaﬁﬁ 002 @Y 7
(1) 8inchx 11 inch

(1) Right

T @ 8.5 inchx 11.5 inch
(3) Down (3) 8inch x 11.5 inch
(4) Bottom (4) 8.5inch x 11 inch
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1. The ————— memory is placed 4. In MS-Word, which function key 1s
between the RAM and the CPU.

(1) Registers used for spelling check?
(2) Cache Memory (1) F7
(3) ROM (2) F5
(4) None of these (3) F10
(4 F3

The time for which a piece of
windows device works 1s called 5. What is. the maximum font size

: that can be set manuall I
(1) Access time y 1in

MS Word-2010?
(2) Seek time

1) 72
(3) Real time
(2) 62
(4) Effective time
(3) 1638
(4) 1368
3. Which of the following is not the
margin for the document of the file in
MS-Word? 6. Dimension of Letter Size document 1n
MS word 1s
(1) Right
(1) 8inch x 11 inch
(2) Upper
2) 8.5 inch x 11.5 inch
(3) Down (2) inch x 5 1nc
(4) Bottom (3) 8inch x 11.5 inch

(4) 8.5 1inch x 11 inch

571-P (3)
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"N’abﬁgoizaﬁ.gl evotesTesiEs &33O,
FEoheerHses.

(1) wBebeder® asorassdd

(2) ma‘;‘sﬁecﬁ Bedeo0’
(3) T BO° By TYFO®
(4) <SBperoso®

9. 3IIATPYNYY aIwEHTD Te’e 0T
9?7
(1) ©wened
2) ool
(3) eor®
(4) o0
571-P
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10.

19,

12.

FSoEDOTS a3y Foaatdotr  Fadees

SBOT3eTrIBRY socdaden odmay

B eetd et QPTEDTDSL?

HTTP (F@0° &85, &pntamos

nd

(1)
Bpetdpcsoer)

(2) SMTP (dozef &3ee®  Epn¥epos

SBpctdncsoe® )

S ol

POP3 (sBsex

(3)
BpeBrrsoet e58 3)

(4)- POP (550020058 e355¢ %ﬁa’f})

MPEG wozd  Bedad
RREES AT,
(1) 3sees® (Image)
(2) &5, (Text)

(3) esdadee (Audio)

4) Dedadee (Video)

0dsS  FosmeltioS Deged  “@Bort”
=

SE, T BEI?
(1) 230° mad)os

o A
(2) ssnf 29 ?\é@‘i
(3) we¥F evueleess

(4) et o




7. ————— connects two networks 10. Which protocol is used to retrieve

that uses different protocol. email messages from the server to

(1) Gateway yvour computer?

(2) Bridge (1) HTTP (Hyper Text Transfer
Protocol)

(3) Hub

(2) SMTP (Simple Mail Transfer
(4) Switch
Protocol)

(3) POP3 (Post Office Protocol

8. The person on Internet who gains Version 8)
unauthorized access, destroys vital (4) POP (Point of Presence)
data, denies users legitimate service
and causes problem for their targets
1s called 11. MPEQG is a type of ————— format.
(1) Database Administrator (1) Image
(2) Software developer (2) Text
(3) Cracker and Hacker (3) Audio
(4) Programmer (4) Video
9.  Which of the following is not a search 12. Which computer scientist discovered
engine? “Phishing” term?
(1) Google (1) John Hopkins
@) Yahoo! (2)° Khan B Smith
3) Bi
@) e (3) Charles Babbage
(4) Safari

(4) Alan Tuning

571-P (5)



13.

14.

15.

Sos3 8306 SE3ZoDR, Reesobh
amzss.:'a‘ﬁaa’ajdgq TECEEEEE S EROT
SRBSVTS.

(1) oaefain (ALU)

(2) So[Bed 7t (Memory Unit)

(3) aboges &83F (Control Unit)

(4) HEF 83F (Input Unit)

LA P 0350E3)T30 e FeTTE

TpPE3eo’ eae)?
a3 ™

(1) MS esepex® (MS Office)

(2) & (Tally)

(3) eBedueee® A0 (Payroll System)

(1) &3 (Linux)

Socdey,  0¥ER C ogdpem SR

oz bios

(1) aswsse - 1

(2) ENIAC

(3) EDSAC

(4) UNIVAC

571-P

(6)

16. é’jlja)as

17,

18.

\‘

EC"T_‘J

RamFdom  Snid

Se0w0deD $0corIPOTS  OIR  2ITF iy,
05 9RITITN7

(1) EPROM 23°

(2) EEPROM 23
(3) PROM edaF
4) 0T DY

ARSI  oRYEd  Somiabiots

©0553)?
(1)
(2)
(3)

(4)

TOBRTEN W QBT O

TEIBT0 VPR SrHT XEBH

SWNT), OV sSadheorHsS?

Windows
0S
Drivers

(4) GUI



13.

14.

15.

In a computer system, interpretation

of an instruction is done by

(1) ALU

(2) Memory Unit
(3) Control Unit
(4) Input Unit

Which of the following is not an

application software?

(1) MS Office

(2) Tally

(3) Payroll System
(4) Linux

The first computer made available for

commercial use was?

(1) Mark-1
(2) ENIAC
(3) EDSAC
(4) UNIVAC

571-P

(7)

16.

17.

18.

Which chips are erasable by ultra-
violet rays after removing them from

the main circuit?

(1) EPROM chips
(2) EEPROM chips
(3) PROM chips
(4) All of the above

Which of the following is not the

element of computer desktop?
(1) Icons

(2) Taskbar

(3) Start Button

(4) Title bar

What are the graphical objects called,

which are used to represent

commonly used application?

(1) Windows
(2) OS

(3) Drivers
(4) GUI
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19. 3Jeesanoct essoé;ﬁﬁdo’?\:‘s 2,0T30 8335:5
eVTIOTOHOITRACS.
(D) éﬂ@eaﬂﬁﬁ
(2) "cgéaj’eoﬁ
(3) e

(4) ©oss 23002

20. MS =308 momoéﬁde_g &eoﬁg SR

TWEEITY, TE0RE TN Zo&Fesee Be :

(1) Ctrl+1
(2) Ctrl+U
(3) Ctrl+d
4) Ctrl+L
21. os®s3 ) BBotseaintss
3 dwﬁ‘ﬁ’ﬁ#ﬁ'& Sododoee3o® CUeEnme)

BB ROV ?
(1) P30T,

2) B mobleos
(3) Seeks® sBeesd

(4) BeBOr®
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22.

23.

24.

"1'15-‘.
\_.
235305550 000E° %@&oﬁe‘g, -
weesrdGE 8 z:a;aers’%b, sp00EP %) s,
—? iy i
édﬁsﬁaﬁ C%Ejag Sl RS at Jq|
2 BORIBTS

(1) B&° aﬁaﬁoﬁ (Slide Master)
(2) eFEtE (Wizard)

(3) &3’ (Theme)
(4) ég. o6 oSS (Slide Transition)

KSCLP o3 ®odeasee

%Y

Qoo med  Tod Aed
& o & 8

(1) - zoswe
2pes® (Kannada Script Code for
Language Processing)

(2) egoozw Q@ TR

decce® (Kannada Source Code

"N”oa;dfa’mﬁ

for Language Processing)
(8) evosdad em%eafﬁ%ﬁ s 0308,
wEeRoRdeyw (Kannada Script

Changing for Language
Purpose)
4) oo  evgdeBmA  THYE D

does® (Kannada Source Code

for Language Purpose)

e 6.0 dos — — exy
SO,

(1) Font-encoding
(2)  Unicode

(3) BCD

(4) Excess 3



19.

A Keylogger antivirus is a typical

example for
(1) Trojan
(2) Spyware
(3) Worm

(4) Logic Bomb

20. In MS power point the short cut key
to justify the selected text 1s
(1) Ctrl+1
(2) Ctrl+U
(3) Ctrl+d
(4) Ctrl+L

91. Which view displays the slides of
presentation as miniature
representation?
(1) Normal
(2) Shde sorter
(3) Notes page
(4) Reading view

571-P

)

22,

23.

24.

In a powerpoint presentation,

provides set of predefined

colors, fonts and visual effects for

slide.

(1) Slide Master
(2) Wizard
(3) Theme

(4) Slide Transition

Abbreviation of KSCLP is

(1) Kannada Script Code for
Language Processing
(2) Kannada Source Code for

Language Processing

(3) Kannada Script Changing for
Language Purpose

(4) Kannada Source Code for

Language Purpose

Nudi from 6.0 is based on
(1) Font-encoding

(2) Unicode

(3) BCD

(4) Excess 3



26.

27.

28.

MS oo agmdsod Gedaded
EORE0EE TedRen BeefRitiests  obess
83,883 @), WFTTTD ?

(1) Sk as

(2) &3eedesd

(3) oo

(4) Besoo® a’uaecf)

MS-Excel 5 STV BT00FE),

FoI20He) 0l Z&Femef %eabda
aoe#?u’ejarbgd?

(1)
(2)
3)
(4)

CTRL +;
F7
CTRL+H
CTRL +:

MS-Excel ©¢), m0s0g; t8ettnass), sEEsel)
TOrEd T, 2333020003
S0oedzeseNTLeR.

(1) SBendeoa® (;)
(2)
(3)

4) #

esgobrRews &5 ()

eszsoed ()
&

MS ofef wgE SRBBRWS  BO0DF
BT008 a3eeg)E)?

(1)
(2)
(3)
(4)

2oesd 1, 1000
23038 1, 1900
woesd 1, 2000

®wesd 1, 1100

571-P

N
29, MS ofefs o TEE IShubay

SeheOTey W DobPeTE® g

o3RI ?

(1) Ctrl+;

(2) Ctrl + Shift +;

(3) Ctrl+t

(4) Ctrl+ Shift +t

30. wnswyivey Feodh =% wOukRs

OB TSR

(1) POP3 (a) T EDeRate
TRVSHITY,
CaedRITY)

(II) FTP (b) Beee*
Ae50R

(L1I) HTTP (c) BT
Ll aTeley
BIOTBY,
Doedeiole]
TRBLY TR
e 0T/
2003 @RE

RBAOT LIRF) LoeAIT3,

(D) D-@), AD-(b), AID)-(c)

(2)  (D-0), AD-(c), AID)-(a)

3 D-(), AD-(0), (IIT)-(b)

@ (D), AD-b), (11T)-(a)

(10)
>



26.

217.

28.

Which page setup feature can be
used to create a mnewspaper like
document in MS word?

(1) Margins

(2) Tables

(3) Columns

(4) Paper Source

Which shortcut key is used to find
current date in MS-Excel?

(1) CTRL+;
2) F7

(3) CTRL+H
(4) CTRL +:

In MS Excel, to treat numeric data
as text, it should be preceded by

Symbol.
(1) Semi Colon (;)
(2) Exclamation Mark (!)

(3) Apostrophes 0
(4) #

What is the earliest date MS Excel

understands?

(1) January 1, 1000
(2) January 1, 1900
(3) January 1, 2000
(4) January 1, 1100

571-P
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29.

30.

What is the shortcut key used to

enter the current time 1nto a

MS Excel cell?

(1) Ctrl +;
(2) Ctrl + Shift +;
(3) Ctrl+t

(4) Ctrl+ Shift +t

Match the followings and identify the

correct sequence.

() POP3 (a) transmitting
hypermedia
documents

11y FTP (b) receive
email

(I11) HTTP (c) away to

download,
upload and
transfer

files

The correct sequence 1s :

1) O-@), dAD-b), ID-()
@ (-, AD-(e), (ID-(a)
@) O-(a), AD-(c), (1D-(b)
@ (D-(0), A1)-(b), (ID-(2)
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GENERAL ENGLISH

Direction : In Question Nos. 66-69
there are sentences which are
divided and numbered into 3 parts
and one of the part may contain an
orror. Identify the error by (1), (2) or
(3) given under the parts of the
sentence. If there is no error Mark
(4) No Error. Shade/blacken the
corresponding circle in your answer
sheet.

66. My grandmother /

(1)
Who live in a small village /
(2)

visits us once in a month / no error.

(3) (4)

67. Neither the manager /

(1)
nor his colleagues /

(2)
has apologized for their lapses /

3

no _error.

(4)

68. A lot of documents /

(L
is reported / missing from the office /
(2) (3)
Nno error.
(4)
69. A great deal / of work was /
1) (2)
done by children / 1no error.
(3) 4)
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70.

L

72.

73.

Direction Read the following
passage and answer the question;;
that follow (Question nos. 70 to 73).
Your answers to these questions
should be based on the passage only.

PASSAGE

It is well said that hard work is the
key to success. Success visits those
who are diligent and industrious. If
we skip work, we shall never prosper
and shall never be happy. We shall
lead a miserable life. In fact, we are
the architects of our own fate. And 1t
is hard work and continuous labor
which matters.. Even if we are born
with a silver spoon in the mouth, we
must inculcate the habit of hard
work. So there is no way to fortune
except through hard labor.

Industrious means
(1)) Hard working
(2) Lazy

(3) Inactive

(4) Unproductive

If we do not work hard it results in,
(1) Happy life

(2) Miserable life

(3) Easy life

(4) Blissful life

Born with a silver spoon in the
mouth means

(1) Born rich

(2) Spoon in mouth

(3) Born poor

(4) Upstart

Way to achieve fortune is through
(1) Lucky dip

(2) Lottery

(3) Hard Labor

(4) Begging




Direction For Question Nos.
74-76 underline idiom or phrase has

been used in the sentence. You have

to choose the sentence which
explains the correct meaning of that
and shade/blacken the correct

answer in your answer sheet.

74. I drink coffee once in a bluemoon.
(1) Idrink coffee everyday
(2) Idrink coffee twice a day
(3) Idrink coffee very rarely
(4) I don’t drink coffee
75. The English test was a piece of cake.
(1) The English test was difficult
(2) The English test was easy
(3) The English test was boring
(4) The English test was confusing
76. Today, He asked me to marry him
out of the blue.
(1) He asked me to marry him in a
blue surrounding
(2) He asked me to marry him
suddenly
(3) He asked me to marry him in a
blue dress
(4) He asked me to marry him
outdoor
571-P
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Direction Read the following
passage and darken the correct
option (1), (2), (3), (4) against (77-79)
questions.

“I Have a Dream’” is a public speech
delivered by American civil rights
activist Martin Luther King Jr.
during the March on Washington for
Jobs and Freedom on August 28,
1963, in which he calls for an end to
racism in the United States and
called for civil and economic rights.
Delivered to over 2,50,000 civil rights
supporters from the steps of the
Lincoln Memorial in Washington,
D.C., the speech was a defining
moment of the civil rights movement.
Beginning with a reference to the
Emancipation Proclamation, which
freed millions of slaves in 1863, King
observes that : “one hundred years
later, the Negro still i1s not free”.
Toward the end of the speech, King
departed from his prepared text for a
partly improvised peroration on the
theme “I have a dream”, prompted by
Mahalia Jackson’s cry : “Tell them
about the dream, Martin!”. In this
part of the speech, which most
excited the listeners and has now
become its most famous, King
described his dreams of freedom and
equality arising from a land of
slavery and hatred. Jon Meacham
writes that, “With a single phrase,
Martin Luther King Jr. joined
Jefferson and Lincoln in the ranks of
men  who've shaped  modern
America”. The speech was ranked the
top  American speech of the
20t century in a 1999 poll of scholars
of public address.

What i1ssues does Martin Luther

King’s speech address?

(1) Continuation of racism

(2) End to racism and civil and
economic rights

(3) Civil rights

(4) Civil War



e

78. What pushes King to speak: “I have
a dream”?
(1) He reads out the Emancipation
Proclamation
(2) He 1s prompted by Mahalia
Jackson
(3) He is overwhelmed by the crowd
(4) Lincoln had asked him to give
the speech
79. From the last paragraph, give
one word for “to leave”.
(1) Departed
(2) Proclamation
(3) Improvised
(4) Address
Directions : Each of the questions
(80-82) contain a sentence with a
blank which you should fill using
appropriate alternatives from (1), (2),
(3), (4.
80. This person needs the of
a psychiatrist.
(1) counsel
(2) practice
(3) proposal
(4) council
81. | The plane is taking off.
(1) Watch
(2) Look
(3) View
(4) Glance
82. His political was
extraordinary.
(1) eyesight
(2) foresight
(3) wvisibility
(4) optics
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83.

84.

85.

86.

87.

88.

Directions Items from (83-85)
contain four sets of spellings. Identify
the correct spelling marking (1), (2),
(3). (4).

Select Correct Word.

(1) Aceleration
(2) Aceeleration
(3) Accelaration

(4) Acceleration

Select Correct Word.
(1) Aggrressive

(2) Aggressive

(3) Aggresseve

(4) Agresive

Select Correct Word.
(1) Iminent
(2) Imminent

(3)° Iminnent
(4) Immineent
Directions The  following

three items (86-88) are designed to
test your familiarity with articles.
Darken the correct option in the
series (1), (2), (3), (4).

It was amazing view.
(1) a
(2) an
(3) the
(4) none of these
I want ice cube.
1) a
(2) an
(3) the
(4) none of these
Oranges are grown in
Nagpur.
(1 A
(2) An
(3) The
(4) No article
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Direction Question Nos. 89-91
have an expression cach which can
be replaced by a single word. Choose
the appropriate word from among the
alternatives and shade/blacken the
corresponding circle in your answer

sheet.

89. Things that can easily catch fire.
(1) Inflammable
(2) Illegible
(3) Indelible
(4) Infallible
90. A list of all the books and articles
used in a piece of writing
(1) Autobiography
(2) Biography
(3) Bibliography
(4) Paragraph
91. Expressing sympathy on intense
sorrow caused by death.
(1) Confidence
(2) Condolence
(3) Complement
(4)  Complaint
571-P

92.

93.

Direction : Question Nos. 92-93 are

hased on degrees of comparisons

(positive, comparative and
superlative). Fill in the blanks with
the most appropriate word/words

from the given alternatives and

shade/blacken the corresponding

circle accordingly in your answer

sheet.

Krishna Raja Wadeyar was one of the

Kings of Mysuru.
(1) Great
(2) Greatest
(3) Greater

(4) Most great

Jaipur 1s than Delhi.
(1) Hot
(2) Hotter

(3) Hottest

(4) None of the above




Direction : Choose the synonyms
for the given underlined words
(Questions Nnos. 94-95) and

shade/blacken the correct answer in
vour answer sheet.

98.

99.

100.

94. Turn off the lights before you leave.
(1) Switch off
(2) Return
(3) Break
(4) None of the above

95. The statue is a Memento of our trip
to Taj Mahal.
(1) Tickets
(2) An article of memory
(3) Stationary
(4) Grocery
Directions : To answer
question nos. 96-97 which 1s an
antonym or the most opposite m
meaning to the underlined word and
shade/blacken the corresponding
circle in your answer sheet.

96. Children are sometimes disobedient.
(1) Obedient
(2) Orient
(3) Inobedient
(4) Dastant

97. Content
(1) Discontent
(2) Uncontent
(3) Incontent
(4) Contentless

571-P
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Question nos. 98-100
are designed to test your ability to

Direction :

use the right prefix. Add a prefix so
that the word conveys the meaning
given in the brackets. Choose the
most appropriate answer from the
alternatives given below to complete
the word by adding the prefix and
shade/blacken  the
circle in your answer sheet.

corresponding

Her attitude is friendly

towards the community.

(1) Un

(2) In

3) Im

4) Co

His behavior was
graceful.

(1) Un

(2) Im

(3) Dis

4) In

The new couch 1s
comfortable.

(1) Un

(2) Mis

3) In

4) Im
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